DAY 1 Arithmetic PRACTICE PAPER 2 Page 1
7 x 3 x 10 =

517 + 492

562 x 1 =
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=93 - 63

44 + 1.63 =

+ 4,000 + 400 = 3,004,400

8 x 23 =
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1
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35 + 5 =

133 x 4 =

0

17,324 - 12,552 =
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14

Show
your
method

- 1,000 = 3,390

90 - (27 + 9) =
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50 x 90 =

264 + 4 =

8

9

0

0.8 + 100 =

100 x 74 =
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5-3.16 =
1(3/2
X 4|7
Show
your
method
23 =
1 4 _
l— + 2— =
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10 - 17—

15 x 7.2

1.7 x 40 =
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0.5 x 46 =

55% of 660 =
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3— - — =
5 6

34

2
— x 330 =
3

3

9% of 600
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0.2 x 900 =

0 =
38 15% x 5,000

1
1= x 27

4(

Show
your
method
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